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Boostrap

pt_pi>0.15,-0.8<y<-0.3

pt_pi>0.1,-0.8<y<-0.3

1000次，boostpoint = tRandom->Gaus(mean[i][j],error[i][j]);   i:rap   j:pt
h_sgct_corr_dndydpt_boostrap[i][k]->SetBinContent(j+1,boostpoint);  k:第k次  
h_sgct_corr_dndydpt_boostrap[i][k]->SetBinError(j+1,boostpoint*dndy_err[i][j]/dndy_mean[i][j]);    
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Boostrap

pt_pi>0.15,-1.3<y<-0.8

pt_pi>0.1,-1.3<y<-0.8
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dNdy_error

•default function:boltzmann

pt_pi>0.15

pt_pi>0.1
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Summary

To do list

 

•calculate the systematic error of 0-10% 
 

•Get systematicerror in 10-40%
•Loop new data
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Differentce between different pt bins for -0.8<y<-0.3

0-10%
0-10%

pt_pi>0.15

0-10%

pt_pi>0.15

pt：1.6-1.9；1.9-2.3，2.3-2.7(old)

-0.8<y<-0.3 -0.8<y<-0.3

pt：1.5-2.0；2.0-2.3，2.3-2.7(new)

•when changing the pt bins,significance of both can reach 3, but the calculated dndy values are different~20%
•Finally the right pt bins are choosed for they make many conditions that change topological cuts can reach 3
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Differentce between different pt_pi cuts

0-10%
l >1, ldl>6
chi2topo<5,
chi2ndf<2.2      
chi2prim_pi>5
chi2prim_he>0

pt_pi>0.15

•bin by bin counting

0-10%

0-10%
0-10%

0-10%
0-10%
l >1, ldl>6
chi2topo<5,
chi2ndf<2.2      
chi2prim_pi>5
chi2prim_he>0

pt_pi>0.1
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Signal with different pt and y ranges
•Cen:0-10%.
•the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
•fit function:gaus+line

-1.3<y<-0.8

-0.8<y<-0.3

•integral method(red line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma range(guided by 0-40%)
(sigma-0.0002,sigma+0.0002)

•bin by bin counting(black line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma(guided by 0-40%)

pt_pi>0.15
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Signal with different pt and y ranges
•Cen:0-10%.
•the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
•fit function:gaus+line

-1.3<y<-0.8

-0.8<y<-0.3

•integral method(red line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma range(guided by 0-40%)
(sigma-0.0002,sigma+0.0002)

•bin by bin counting(black line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma(guided by 0-40%)

pt_pi>0.1
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�� spectra(Differentce between different pt_pi cuts)

0-10% 0-10%

pt_pi>0.15 pt_pi>0.1
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Boostrap

pt_pi>0.15,-1.3<y<-0.8

pt_pi>0.1,-1.3<y<-0.8

1000次，boostpoint = tRandom->Gaus(mean[i][j],error[i][j]);   i:rap   j:pt
h_sgct_corr_dndydpt_boostrap[i][k]->SetBinContent(j+1,boostpoint);  k:第k次      
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Boostrap

pt_pi>0.15,-0.8<y<-0.3

pt_pi>0.1,-0.8<y<-0.3
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dNdy

•default function:boltzmann
•dNdy
        •data+integral:data_point*pt_width(sum of data)+integral of fit 
•dNdy_error
        •scale method:
(error of the sum of data)*(integral of fit functionfrom 0 to 10)/(integration of fit funcition in measured pt range)

pt_pi>0.15 pt_pi>0.1
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dNdy_error

•default function:boltzmann

pt_pi>0.15

pt_pi>0.1
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meanpt

•default function:boltzmann

pt_pi>0.15

•the function of numerator use the same parameters as  
function of denominator

pt_pi>0.1
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meanpt_err

•default function:boltzmann

pt_pi>0.15

pt_pi>0.1
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�� spectra

0-10% 10-40%

2
3��：3σ~1

•Fit function(with option”I”)
  •boltzmann: [1]*x*sqrt([2]*[2]+x*x)*exp(-sqrt([2]*[2]+x*x)/[0])       (x:pt ;para[2]:mass fixed)
  •mtexp: [1]*x*exp(-sqrt(x**2+[2]**2)/[0])       (x:pt ;para[2]:mass fixed)
  •ptgaussexp: x*[1]*exp(-x/[0])       (x:pt ;para[2]:mass fixed)
  •pt3exp: x*[1]*exp(-pow(x,1.5)/[0])       (x:pt ;para[2]:mass fixed)
  •bwexp: GetBGBWdNdptTimesPt       (para[0]:mass fixed;para[3]:n fixed 1)

•ptgaussexp and pt3exp are higher than others especially ptgaussexp
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�� spectra

•default function:boltzmann

•dNdy
        •data+integral:data_point*pt_width(sum of data)+integral of fit 
•dNdy_error
        •scale method:
(error of the sum of data)*(integral of fit functionfrom 0 to 10)/(integration of fit funcition in measured pt range)

•system error from fit function styles~25%
boltzmann

boltzmann
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meanpt

•default function:boltzmann

•using parameters from fit function in slides 2 

 •denominator:
    value: the integral from 0 to 10 of the fit function in slides 2     
    function style:
     boltzmanntimespt: [1]*x*sqrt([2]*[2]+x*x)*exp(-sqrt([2]*[2]+x*x)/[0]) 
    

•numerator:
    value: the integral from 0 to 10 of a new function(using the same parameters as  function of denominator). 
     function style:
     ptboltzmanntimespt: [1]*x*x*sqrt([2]*[2]+x*x)*exp(-sqrt([2]*[2]+x*x)/[0]) 
     set function parameters the same as the fit function in slides 2.
     

boltzmann

boltzmann
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Back up

•Cen:0-10%.
Efficiency
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Back up

•Cen:10-40%.
Efficiency
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Signal and acceptance

0-10%
l >1, ldl>6
chi2topo<5,
chi2ndf<2.2      
chi2prim_pi>5
chi2prim_he>0

pt_pi>0.15

0-40%
l >1, ldl>1
chi2topo<5,
chi2ndf<4      
chi2prim_pi>11
chi2prim_he>0

pt_pi>0.15

•bin by bin counting

10-40%

0-10% 0-10%

10-40%

0-10%
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Signal with different pt and y ranges
•Cen:0-10%.
•the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
•fit function:gaus+line

-1.3<y<-0.8

-0.8<y<-0.3

•integral method(red line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma range(guided by 0-40%)
(sigma-0.0002,sigma+0.0002)

•bin by bin counting(black line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma(guided by 0-40%)
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Signal with different pt and y ranges
•Cen:10-40%.
•the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma(bin by bin counting)
•fit function:gaus+line

-1.3<y<-0.8

-0.8<y<-0.3

•integral method(red line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma range(guided by 0-40%)
(sigma-0.0002,sigma+0.0002)

•bin by bin counting(black line)
•Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
•Fix fitsigma(guided by 0-40%)
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�� spectra
•Cen:0-10%.
•yield:integral method (fit function’s first parameter)

scaled (y:-0.8~-0.3) scaled (y:-0.7~-0.2)
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�� spectra
•Cen:0-10%.
•yield:integral method (fit function’s first parameter)


